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nextButton.addActionListener(this);
prevButton.addActionListener(this);
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2行目の private を public あるいはprotected に変える、または消す。
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@. |extends JApplet implements KeyListener, Runnable

Gi). [Nt

(iii). [run

@(v). extends JApplet Implements Runnable

}

M- | new KeyListener() {
public void keyPressed(KeyEvent e) {
int key = e.getKeyCode();
switch  (key) {
case KeyEvent.VK LEFT: dx-=0.5; break;
case KeyEvent.VK RIGHT: dx+=0.5; break;
default: break;
}
}
public void keyReleased(KeyEvent e {}
public void keyTyped(KeyEvent e) {}
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new KeyListener() {
  public void keyPressed(KeyEvent e) {
    int key = e.getKeyCode();
    switch (key) {
    case KeyEvent.VK_LEFT:  dx-=0.5; break; 
    case KeyEvent.VK_RIGHT: dx+=0.5; break;
    default:                         break;
    }
  }
  public void keyReleased(KeyEvent e) {}
  public void keyTyped(KeyEvent e) {}
}





